ESTILO

SHOWER SCREEN
WHITE

* 1830mm H x 830-900mm W x 855-880mm D
* Magnetic Door Strip
* Aluminium Frame

* 6mm Toughened Safety Glass AS/NZS 2208
* Semi-Frameless Front

* Pivoting Door, Left or Right Side Option
* Adjustable Front and Side Panels

Item No: 0012605

D a8 N =

7 x Wall Plugs

7 x Screws M4x35

8 x Screws M4x8

10 x Screw Cover Caps
1 x Wall Profile A

1 x Side Panel

2 x Screws M4x12

1 x Door Panel + Fixed Panel
2 x Water Deflectors

] 1 x Handle Set

] 1 x Wall Profile B

] 1 x Strip Seal

Page 1 of 2
See Page 2 for spare part pricing

ESTILO

SHOWER SCREEN
WHITE

* 1830mm H x 830-900mm W x 855-880mm D
* Magnetic Door Strip
* Aluminium Frame

* 6mm Toughened Safety Glass AS/NZS 2208
* Semi-Frameless Front

* Pivoting Door, Left or Right Side Option
* Adjustable Front and Side Panels

ltem No: 0012605

Instruction Sheet Part Number | Logan Arms Part Number Barcode Description Spare Part Unit
1 370160 6958959370160 7 x Wall Plugs Pack of 7
2 370177 6958959370177 7 x Screw M4 x 35 Pack of 7
3 370184 6958959370184 8 x Screw M4 x 8 Pack of 8
4 370191 6958959370191 10 x Screw Cover Oaps Pack of 10
3] 370207 6958959370207 1 x Wall Profile A Each
6 370214 6958959370214 1 x Side Panel Each
7 370221 6958959370221 2 x Screw M4 x 12 Pack of 2
8.1 370238 6958959370238 1 x Door Panel (pre-assembled) Each
8.2 370245 6958959370245 1 x Smaller Fixed Panel (pre-assembled) Each
9 370252 6958959370252 2 x Water Deflectors Pack of 2
10 370269 6958959370269 1 x Handle Set Each
11 370276 6958959370276 1 x Wall Profile B Each
12 370283 6958959370283 1 x Strip Seal Each
Not listed 370290 6958959370290 2 x Hinges Each

Page 2



